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Topic:­ Physics

To demonstrate the phenomenon of interference we require two sources
which emit radiation:/� यितकरण की घटना को ▀दिश└त करने के िलए ऐसे दो � ⁪ोतो ंकी
आव� यकता होती है िजनसे िनकलने वाले िविकरणो ंम┼:

1. Of the same frequency/आवृिΟ समान हो

2. Of different wavelength/तरंगदै� य└ िभپ न हो

3. Of the same frequency and having a definite phase relationship/आवृिΟ समान हो और
कलांतर िनिמत हो

4. Of nearly the same wavelength/ तरंगदै� य└ समान हो

Correct Answer :­

Of the same frequency and having a definite phase relationship/आवृिΟ समान हो और
कलांतर िनिמत हो

When an imparity is doped into an intrinsic semiconductor the
conductivity of the semiconductor:/जब िकसी शुο अο└चालक म┼ अशुεοयाँ िमि▓त की
जाती ह╒ तो इसकी चालकता:

1. Increased/बढ़ जाती है

2. Decreased/घट जाती है

3. Remain the same/समान रहती है

4. Becomes zero/शूپ य रहती है

Correct Answer :­

Increased/बढ़ जाती है

If the mass and radius of the earth reduced by 1%. Then the value of
acceleration due to gravity will become:/यिद पृپ वी के ╪� यमान तथा ि╨� या 1% कम कर
िदया जाये तो गु╛� वीय � वरण g का मान:
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1. Reduced 1%/1% कम हो जायेगा

2. Increased 1%/1% बढ़ जायेगा

3. Increased 2%/2% बढ़ जायेगा

4. Unchanged/अपδरवित└त रहेगा

Correct Answer :­

Increased 1%/1% बढ़ जायेगा

Which of the following produces a virtual image larger in size than
object:/िनگ न म┼ से िकसके ύारा काی पिनक छाया▀ित उसके वा� तिवक माप से अिधक होती है:

1. Concave lens/अवतल ल╒स

2. Convex lens/उ� तल ल╒स

3. Convex mirror/उ� तल दपण└

4. None of these/इनम┼ से कोई नही ं

Correct Answer :­

Convex lens/उ� तल ल╒स

A photon of frequency v is incident on a metal surface whose threshold
frequency is v0. The maximum kinetic energy of the emitted electron will be:/
एक v आवृिΟ का फोटॉन धातु की सतह िजसकी देहली आवृिΟ v0 पर आपितत होता है, तब उ� सिज└त
इले۵ ۵ ट├ ॉन की अिधकतम गितज ऊजा└ होगी:

1. h(v ­ v0)

2. h(v + v0)

3.  h(v ­ v0)

4.  h(v + v0)

Correct Answer :­

h(v ­ v0)

If linear velocity is constant then angular velocity is proportional to:/यिद
रेखीय वेग ε�थर है तो कोणीय वेग िकसके अनु╡मानुपाती होगा:

1. 
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2. 

3. 

4. 

Correct Answer :­

In the given circuit the current through the battery is:/िदए गए पδरपथ म┼ बैटरी से
गुजरने वाला ▀वाह है:

1. 0.5 A

2. 1.0 A

3. 1.5 A

4. 2.0 A

Correct Answer :­

0.5 A

If the unit of force and length each be increased by four times then the
unit of energy is increased by:/यिद बल एवं लंबाई के मा╨क को 4 गुना बढ़ा जाव┼ तो ऊजा└ के
मा╨क म┼ बढोतरी होगी:

1. 16 times/16 गुना

2. 8 times/8 गुना

3. 2 times/2 गुना

4. 4 times/4 गुना

Correct Answer :­

16 times/16 गुना
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Every gas behaves as an ideal gas:/▀� येक गैस आदश└ गैस की तरह � यवहार करती है:

1. At high temperature and low pressure/उ� च ताप और कम दाब पर

2. At low temperature and high pressure/िनگ न ताप और उ� च दाब पर

3. Normal temperature and pressure/सामाپ य ताप ओर दाब पर

4. None of these/इनम┼ से कोई नही ं

Correct Answer :­

At high temperature and low pressure/उ� च ताप और कम दाब पर

The spherical shape of rain drop is due to:/िकसकी वजह से बाδरश की बँूदो ंका आकार
गोलीय होता है:

1. Density of the liquid/तरल का घन� व

2. Surface tension/पृ� ठ तनाव

3. Atmospheric pressure/वायुम� डलीय दाब

4. Gravitational/गु╛� वाकष└ण

Correct Answer :­

Surface tension/पृ� ठ तनाव

The resolving limit of healthy eye is about:/� व� थ आँखो ंके िलए िवभेदन āमता होती
है:

1. 1’

2. 1’’

3. 1o

4. 0.1’

Correct Answer :­

1’

The charge is moved against the coulomb force of an electric field:/यिद िकसी िवद्यु त āे╨ म┼ कोई
आवेश कूलॉम बल के िव╛ο गित करता है तो:

1. Work is done by the electric field/िवद्यु त āे╨ ύारा काय└ का संपादन होता है

2. Energy is used from some outside source/िकसी बाहय ▬ोत ύारा ऊजा└ का उपयोग िकया जाता है

3. The strength of the field is decreased/िवद्यु त āे╨ की ती▒ता घटती है
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4. The energy of the system is decreased/तं╨ की ऊजा└ घट जाती है

Correct Answer :­

Energy is used from some outside source/िकसी बाहय ▬ोत ύारा ऊजा└ का उपयोग िकया जाता है

Heat flows as a result of difference of:/ऊ� मा ▀वाह िकसके अंतर का पδरणाम है:

1. Mass/╪� यमान

2. Density/घन� व

3. Temperature/ताप

4. Potential difference/िवभवांतर

Correct Answer :­

Temperature/ताप

The resolving power of a telescope depends on:/दूरदश┬ की िवभेदन āमता िनभ└र
करती है:

1. Focal length of eye lens/नेि╨का ल┼स की फोकस दूरी

2. Focal length of objective lens/अिभ۴� यक ल┼स की फोकस दूरी

3. Length of telescope/ दूरदश┬ की लंबाई पर

4. Diameter of objective lens/ अिभ۴� यक ल┼स के � यास पर

Correct Answer :­

Diameter of objective lens/ अिभ۴� यक ल┼स के � यास पर

If the steel bob of a simple pendulum is replaced by a rubber bob then its
time period will be:/साधारण दोलन म┼ यिद � टील के लोलक को रबर के लोलक से बदल िदया जाव┼
तो उसका आवत└काल:

1. Increased/बढ़ जायेगा

2. Decreased/घट जायेगा

3. Remain the same/अपδरवित└त रहेगा

4. First increased then decreased/पहले बढ़ेगा िफर घटेगा

Correct Answer :­

Remain the same/अपδरवित└त रहेगा
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The gravitational force Fg between two objects does not depend on:/दो
िप� डो ंके मپ य लगने वाला गु╛� वीय बल Fg, िनگ न म┼ से िकस पर िनभ└र नही ंहै:

1. Sum of the masses/╪� यमानो ंके योग पर

2. Product of the masses/╪� यमानो ंके गुणनफल पर

3. Gravitational constant/गु╛� वीय िनयतांक पर

4. Distance between the masses/िप� डो ंके मپ य की दूरी पर

Correct Answer :­

Sum of the masses/╪� यमानो ंके योग पर

The spring extended by x on loading then energy stored by the spring is:
(If T is the tension in spring and K is spring constant):/िकसी भार ύारा εंּנग को x
तक खीचंा जाता है तब εंּנग से संचδरत ऊजा└ होगी: (यिद T तनाव एवं K εंּנग िनयतांक है)

1. 

2. 

3. 

4. 

Correct Answer :­

One car moving an a straight road and cover one third of the distance
with 20 km/hr and the rest with 60 km/hr, the average speed is:/एक कार सीधे
रोड़ पर जा रही है िजसने एक ितहाई दूरी 20 िकमी/घंटे की गित से एवं बाकी की दूरी 60 िकमी/घंटे की
गित से तय की है तब कार की औसत गित होगी:

1. 40 km/hr/40 िकमी/घंटा

2. 80 km/hr/80 िकमी/घंटा

3.   km/hr/   िकमी/घंटा

4. 36 km/hr/36 िकमी/घंटा

Correct Answer :­

36 km/hr/36 िकमी/घंटा
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Magnetic flux associated with coil is directly proportional to:/कु� डली से बο
चंुबकीय и۵ स िकसके समानुपाती होता है:

1. Current flow in it/इसम┼ ▀वािहत धारा के

2. Length of coil/कु� डली की लंबाई के

3. Resistance of coil/कु� डली के ▀ितरोध के

4. All of the above/उपरो۵ त सभी

Correct Answer :­

Current flow in it/इसम┼ ▀वािहत धारा के

Angular momentum is:/कोणीय संवेग है:

1. A scalar/एक अिदश

2. A polar vector/एक (╫ुवीय) सिदश

3. An axial vector/एक अāीय सिदश

4. None of these/इनम┼ से कोई नही ं

Correct Answer :­

An axial vector/एक अāीय सिदश

The ratio in moment of inertia of two circular ring is 2 : 1 and the ratio in
their diameter is 2 :1. The ratio in their masses will be:/दो वलयो ंके जड़� व आघूण╗
का अनुपात 2 : 1 है तथा उनके � यासो ंका अनुपात 2 : 1 है उनके ╪� यमानो ंका अनुपात होगा:

1. 2 : 1

2. 1 : 2

3. 1 : 4

4. 1 : 1

Correct Answer :­

2 : 1

The magnitude of   is:/  का पδरणाम है:

1. 9 × 109

2. 9 × 10­9
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3. 8.85 × 10­12

4. 9 × 10­10

Correct Answer :­

9 × 109

Lentz’s law is a consequence of the law of conservation of:/ल┼ज के िनयम का
पδरणाम िकसके संरāण के िसοांत की पुि״ करता है:

1. Charge/आवेश

2. Current/धारा

3. Momentum/संवेग

4. Energy/ऊजा└

Correct Answer :­

Energy/ऊजा└

The velocity of a body of mass 20 kg decreases from 20 m/s to 5 m/s in
a distance of 100 m. Force of the body is:/िकसी व� तु का ╪� यमान 20 िक╣ा है िजसका वेग
100 मीटर दूरी म┼ 20 मी/से. से घटकर 5 मी/से. हो जाता है तब व� तु पर लगाया गया बल है:

1. ­27.5 N/­27.5 پ यूटन

2. ­47.5 N/­47.5 پ यूटन

3. ­37.5 N/­37.5 پ यूटन

4. ­675 N/­675 پ यूटन

Correct Answer :­

­37.5 N/­37.5 پ यूटन

Magnetic field inside a solenoid is:/पδरनािलका के अंदर चंुबकीय āे╨ का मान होगा:

1. Directly proportional to current/धारा के सीधे समानुपाती

2. Inversely proportional to current/धारा के � यु� ╡मानुपाती

3. Directly proportional to it length/लंबाई के समानुपाती

4. Inversely proportional to the total number of turn/तार की कु� डली के � यु� ╡मानुपाती

Correct Answer :­

Directly proportional to current/धारा के सीधे समानुपाती
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Dimensional formula for force is:/बल का िवमीय सू╨ है:

1. [M1L2T­2]

2. [M1L1T­2]

3. [M1L­1T­2]

4. [M1L­2T­2]

Correct Answer :­

[M1L1T­2]

A satellite is moving around the earth with speed v in circular orbit of r
radius. If the orbit radius is decrease by 1%, its speed will:/एक उप╣ह पृپ वी के चारो ं
ओर r ि╨� या के कāा म┼ v चाल से गितशील है यिद कā की ि╨� या 1% कम कर दी जाव┼ तो उसकी चाल
होगी:

1. Increase by 1% / 1% की वृεο

2. Increase by 0.5% / 0.5% की वृεο

3. Decreases by 1% / 1% कम हो जाना

4. Decreases by 0.5% / 0.5% कम हो जाना

Correct Answer :­

Increase by 0.5% / 0.5% की वृεο

A ray of light propagates glass (refractive index =  ) to water (refractive

index =  ). The value of the critical angle:/एक िकरण काँच (अपवत└नांक =  ) से पानी

(अपवत└नांक =  )मं गमन करती है तो ╡ांितक कोण का मान होगा:

1. 

2. 

3. 

4. 

Correct Answer :­
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An electromagnetic wave has wavelength 10 cm. it is in the:/यिद एक िवद्यु त
चंुबकीय तरंग की तरंगदैپ य└ 10 सेमी है तो वह पायी जायेगी:

1. In visible Region/۴� य āे╨ म┼

2. In radio region/रेिडयो āे╨ म┼

3. In ultra violet region/पराब╒गनी āे╨ म┼

4. x­ray region/x­िकरण āे╨ म┼

Correct Answer :­

In radio region/रेिडयो āे╨ म┼

A 220V, 100W bulb is connected to a 110V. The power consumed is:/ एक
220V, 100W के बی ब को 110V के � ⁪ोत से जोड़ा जाता है तो कुल शε♣ उपयोग होगी:

1. 25 W

2. 50 W

3. 100 W

4. 200 W

Correct Answer :­

25 W

Topic:­ Chemistry

Out of the three acids–formic acid, trichloroacetic acid, trifluoracetic acid
which is the strongest acid?/ फॉिम└क अќ, ट├ ाइ└ □ोरो ऐसीिटक अќ एवं ट├ ाइ└иोरो
ऐसीिटक अќ म┼ से ▀बलतम अќ है?

1. Formic acid/ फॉिम└क अќ

2. Trichloracetic acid/ ट├ ाइ└□ोरोऐसीिटक अќ

3. Trifluoracetic acid/ ट├ ाइ└иोरोऐसीिटक अќ

4. None of these/ इनम┼ से कोइ└ नही ं

Correct Answer :­

Trifluoracetic acid/ ट├ ाइ└иोरोऐसीिटक अќ
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A compound X of formula C3H8O yields a compound C3H6O, on oxidation.
To which of the following classes of compounds could X belong?/ C3H8O सू╨
का यौिगक X ऑċीकरण करने पर C3H6O यौिगक देता है। यौिगक X िनђ म┼ से िकस ▓ेणी से
सѕεЖत है?

1. Aldehyde/ ऐεֵहाइड

2. Alkene/ ऐ№ीन

3. Secondary alcohol/ िύतीयक ऐ№ोहोल

4. Tertiary alcohol/ तृतीयक ऐ№ोहोल

Correct Answer :­

Secondary alcohol/ िύतीयक ऐ№ोहोल

The compound which does not give a positive iodoform test on treatment
with alkali and iodine is:/ āार एवं आयोडीन के साथ ि╡या कराने पर िनђ म┼ से कौनसा
यौिगक आयोडोिमतीय पδरāण नही ंदेता है:

1. Ethanol/ ऐथेनोल

2. Acetone/ ऐसीटोन

3. Diethyl ketone/डाइ└ऐिथल कीटोन

4. Isopropyl alcohol/ आइसो▀ोिपल ऐ№ोहोल

Correct Answer :­

Diethyl ketone/डाइ└ऐिथल कीटोन

Which of the following is the major product obtained when tert­butyl
bromide is treated with sodium tert­butoxide?/ जब तृतीयक хूिटल █ोमाइड, सोिडयम
तृतीयक хूटोċाइड के साथ अिभकृत करवाया जाए तो िनђ म┼ से कौन सा मुġ उΧाद ▀ाЧ होगा?

1. 

2. 

3. 

4. 
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7)  

Correct Answer :­

To a mixture of acetic acid and sodium acetate a further amount of
sodium acetate is added. The pH of the mixture:/ ऐसीिटक ऐिसड़ एवं सोिडयम
ऐसीटेट के िम▓ण म┼ सोिडयम ऐसीटेट ओर अिधक िमलाया जाता है। िम▓ण की pH:

1. Increases/ बढेगी

2. Decreases/ घटेगी

3. Is unaltered/ अपδरवित└त होगी

4. Is unpredictable/अनुमािनत नही ंहै

Correct Answer :­

Increases/ बढेगी

Polarisation of electrons in acrolein may be written as:/ ऐ╡ोलीन म┼ इले♂├ ॉनो ं
का ╫ुवण िनђ म┼ से िकस ▀कार होगा:

1. 

2. 

3. 

4. 

Correct Answer :­

The molar ionic conductance’s at infinite dilution of Mg2+ and   are 106.1
and 76.3 ohm­1 cm2 mol­1 respectively. The molar conductance of solution of
MgCl2 at infinite dilution will be:/ Mg2+ एवं   की अनЋ तनुता पर मोलर आयिनक

चालकता ╡मश: 106.1 एवं 76.3 ओम­1 सेमी2 मोल­1 है। अनЋ तनुता पर MgCl2 के िवलयन की
मोलर चालकता होगी:

1. 29.8 ohm­1 cm2 mol­1

2. 183.4 ohm­1 cm2 mol­1

3. 285.7 ohm­1 cm2 mol­1
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4. 258.7 ohm­1 cm2 mol­1

Correct Answer :­

258.7 ohm­1 cm2 mol­1

The compound which gives a yellow solid on adding to an alcoholic
solution of 2, 4–dinitrophenyl hydrazine but does not reduce Fehling’s
solution and ammoniacal silver nitrate solution is:/ एक यौिगक 2, 4­
डाइ└नाइट├ ोफेिनल हाइड├ ेजीन के ऐ№ोहोिलक िवलयन के साथ योग करने पर पीला ठोस देता है। लेिकन
फेहिलंग िवलयन एवं अमोिनयामय िसגर नाइट├ ेट िवलयन को अपचियत नही ंकरता है। यौिगक होगा:

1. 

2. 

3. CH3CHO

4. CH3COOH

Correct Answer :­

The metal which gives no amphoteric oxide is:/ िनђ म┼ से कौनसा तβ उभयधम┬
ऑċाइड नही ंदेता:

1. Zn

2. Cu

3. Sn

4. Al

Correct Answer :­

Cu

The brown ring complex compound is formulated as [Fe(H2O)5(NO)]+.

The oxidation state of iron is:/एक भूरा वलय संकुल यौिगक [Fe(H2O)5(NO)]+ है। इसम┼
Fe की ऑċीकरण अव�था है:

1. 1

2. 2
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3. 3

4. 0

Correct Answer :­

1

When chloroform is boiled with an aqueous NaOH solution, it gives:/ जब
□ोरोफॉम└ को जलीय NaOH िवलयन के साथ उबाला जाता है तो इससे बनेगा:

1. Formic acid/ फॉिम└क अќ

2. Trihydroxymethane/ ट├ ाइ└ हाइड├ ोċीमेथेन

3. Sodium formate/ सोिडयम फॉम═ट

4. Acetylene/ ऐसीिटलीन

Correct Answer :­

Sodium formate/ सोिडयम फॉम═ट

The conjugate acid of   is:/  का संयुĵी अќ है:

1. NH3

2. NH2OH

3. 

4. N2H4

Correct Answer :­

NH3

Which inert gas has largest boiling point:/िनђ म┼ से िकस अि╡य गैस का ▫थनांक
िबپदु उŗतम होगा:

1. Xe

2. Ar

3. Kr

4. He

Correct Answer :­

Xe
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The first ionization potential in electron volt of nitrogen and oxygen
atoms respectively are given by:/ नाइट├ ोजन एवं ऑċीजन परमाणुओ ंके ▀थम आयनन
िवभव का मान इले♂├ ॉन वोֳ म┼ ╡मशः होगा

1. 14.6, 13.6

2. 13.6, 14.6

3. 13.6, 13.6

4. 14.6, 14.6

Correct Answer :­

14.6, 13.6

The ratio of the energy of a photon of 2000Å wavelength radiation to that
of 4000Å radiation is:/ 2000Å तरंगदैЄ└ की िवकीरण के फोटोन की उजा└ एवं 4000 Å तरंगदैЄ└
की िविकरण के फोटोन की उजा└ का अनुपात होगा

1. 1/4

2. 4

3. 1/2

4. 2

Correct Answer :­

2

The electric charge for electrode deposition of gram equivalent of a
substance is:/ एक पदाथ└ के ╣ाम तुׂांक के इले♂├ ॉड िनāेपण के िलए िवद्यु त आवेश है:

1. 1 ampere per second/1 ऐεѓयर ▀ित सैकΏ

2. 96500 coulombs per second/96500 कूलॉम ▀ित सैकΏ

3. 1 ampere for 1 hour/1 ऐεѓयर ▀ित घंटा

4. Charge on one mole of electrons/ एक मोल इले♂├ ॉनो ंपर आवेश

Correct Answer :­

Charge on one mole of electrons/ एक मोल इले♂├ ॉनो ंपर आवेश

“10 V” of H2O2 is a solution with a strength of approximately?/ “10 V” का
H2O2 िवलयन िकतनी सामپ य└ का िवलयन होगा?

1. 3%

2. 30%



18)  

19)  

20)  

3. 10%

4. 5%

Correct Answer :­

3%

Which of the following oxides of nitrogen is a coloured gas?/ नाइट├ ोजन का
कौन सा ऑċाइड रंगीन गैस है:

1. N2O

2. NO

3. N2O4

4. NO2

Correct Answer :­

NO2

When a lead storage battery is discharged:/जब एक सीसा संचायक बैटरी
अनावेिशत होती है तो:

1. SO2 is evolved/SO2 मु♣ होती है

2. Lead is formed/ सीसे का िनमा└ण होता है

3. Lead sulphate is consumed/ लेड से־ट का उपभोग होता है

4. Sulphuric acid is consumed/ सیзूδरक अќ का उपभोग होता है

Correct Answer :­

Sulphuric acid is consumed/ सیзूδरक अќ का उपभोग होता है

The molecules having one unpaired electron is:/ िनђ म┼ से िकसम┼ एक अयुεĵत
इले♂├ ॉन है:

1. NO

2. CO

3. 

4. O2

Correct Answer :­

NO
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Sulphur dioxide bleaches colouring matter by:/ स־र डाइ└ ऑċाइड रंगीन
पदाथ╗ को िकसके ύारा िवरंिजत करता है:

1. Oxidation/ ऑċीकरण

2. Reduction/ अपचयन

3. Dehydrogenation/ िवहाइड├ ोजनीकरण

4. Dehydration/ िनज└लीकरण

Correct Answer :­

Reduction/ अपचयन

An alloy which does not contain copper is:/ िनђ म┼ से िकस िम▓ धातु म┼ कॉपर नही ं
होता:

1. Solder/ रांगा

2. Bronze/ कांसा

3. Brass/ पीतल

4. Bell metal/ घंटी धातु

Correct Answer :­

Solder/ रांगा

An aliphatic amine has a vapour density of 36.5. On heating the amine
with excess of CH3I, a quaternary salt containing 56% iodine is formed. The
structural formula of amines is:/एक ऐलीफेिटक ऐमीन का वा� धनβ 36.5 है। इसे CH3I
के आिधℓ के साथ गम└ करने पर एक चतुת लवण ▀ाЧ होता है िजसम┼ 56% आयोडीन है। ऐमीन का
संरचनाΫक सू╨ होगा:

1. CH3CH2CH2CH2NH2

2. 

3. 

4. CH3CH2CH2NH2

Correct Answer :­
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In the aluminothermite process, aluminum acts as:/ ऐलूिमनोतापी िविध म┼
ऐׂूमीिनयम िकसकी तरह काय└ करता है:

1. An oxidising agent/ ऑċीकारक अिभकम└क

2. A flux/ иċ की तरह

3. A reducing agent/ अपचायक अिभकम└क

4. A solder/ बЖक की तरह

Correct Answer :­

A reducing agent/ अपचायक अिभकम└क

An organic compound (A) reduces Tollen’s reagent and undergoes
Cannizaro reaction. On vigorous oxidation it gives Benzene 1, 2­dicarboxylic
acid. Compound (A) is:/एक काब└िनक यौिगक (A) टॉलेन अिभकम└क को अपचियत करता है एवं
कैिनजारो अिभि╡या देता ह╒ ती▒ ऑċीकरण ύारा यह बेپजीन 1, 2­डाइ└काब╕εċिलक अќ देता है।
यौिगक (A) है:

1. 

2. 

3. 

4. 

Correct Answer :­

A certain weak acid has a dissociation constant of 1 × 10–4. The
equilibrium constant for reaction with a strong base is:/ एक दुब└ल अќ का
िवयोजन िनयतांक 1 × 10–4 है। ▀बल āार के साथ अिभि╡या करने पर साћाव�था िनयतांक होगा:
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1. 1 × 10–4

2. 1 × 10–10

3. 1 × 1010

4. 1 × 1014 

Correct Answer :­

1 × 1010

‘Anisole’ belongs to one of the following functional groups. Which is it?/
‘ऐनीसोल’ िनђ म┼ से िकस ि╡याΫक समूह से सѕεЖत है?

1. Alcohol/ ऐ№ोहोल

2. Ketone/ कीटोन

3. Ether/ इ└थर

4. Amine/ ऐमीन

Correct Answer :­

Ether/ इ└थर

Formaldehyde on shaking with conc. 50% NaOH solution undergoes:/
फॉम═εֵहाइड की 50% साД NaOH िवलयन के साथ ि╡या है:

1. Aldol condensation/ ऐֵोल संघनन

2. Hydrolysis/ जल अपघटन

3. Urotropine formation/ यूरोट├ ोपीन का िनमा└ण

4. Cannizzaro reaction/ कैनीजारो अिभि╡या

Correct Answer :­

Cannizzaro reaction/ कैनीजारो अिभि╡या

The pair of compounds which cannot exist together in solution is:/ यौिगको ं
का कौनसा युĵ िवलयन म┼ एक साथ नही ंरह सकता:

1. NaHCO3 and NaOH/ NaHCO3 एवं NaOH

2. Na2CO3 and NaHCO3/ Na2CO3 एवं NaHCO3

3. Na2CO3 and NaOH/ Na2CO3 एवं NaOH

4. NaHCO3 and NaCl/ NaHCO3 एवं NaCl
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Correct Answer :­

NaHCO3 and NaOH/ NaHCO3 एवं NaOH

If X0 be the initial number of radioactive nuclei then the number of nuclei

remain undecayed at the end of nth half­life is:/यिद रेिडयोऐε♂व नािभक की
▀ारεјक संġा X0 हो तो nth अध└ आयु के अЋ म┼ अāियत नािभको ंकी संġा होगी:

1. n2X0

2. n­2X0

3. 2­nX0

4. 2­n (X0)­n

Correct Answer :­

2­nX0

Topic:­ Botany

Chromosomes are related with? /गुणसू╨ सѕंिधत होते ह╒?

1. Respiration/ קसन से

2. Reproduction/ ▀जनन से

3. Transmission of hereditary character/ अनुवांिशक गुणो ंके �थानांतरण से

4. Digestion/ पाचन से

Correct Answer :­

Transmission of hereditary character/ अनुवांिशक गुणो ंके �थानांतरण से

Most enzymes that takes part in Krebs cycle are located in:/ ╡ेब च╡ म┼ भाग
लेने वाले ब╟त सारे िवकर (एंजाइम) िकस �थान पर रहते ह╒

1. Mitocondrial metrix / माइटोकोεЊ├ या ╪י

2. Cytoplasm / जीव╪י

3. Inner mitochondrial membrane/ माइटोकोεДय की आंतδरक िझ׃ी

4. Plasma membrane / Юासमा िझ׃ी

Correct Answer :­

Mitocondrial metrix / माइटोकोεЊ├ या ╪י
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Embryo of pinus is?/ पाइनस का ▌ूण होता है?

1. Haploid/ हेЮोइड

2. Diploid/ िडЮोइड

3. Triploid/ ट├ ीЮोइड

4. Multiploid/ मֳीЮोइड

Correct Answer :­

Haploid/ हेЮोइड

Where is place of bacteria in the classification of Whittkar system?/
εלटेकर के विग└करण म┼ जीवाणु को कौन­सा �थान िदया गया है?

1. Protista/ ▀ोिटּדा

2. Monera/ मोनेरा

3. Plante/ पादप

4. Fungi / कवक

Correct Answer :­

Monera/ मोनेरा

What is the scientific name of wheat used for bread?/ रोटी के िलए उपयोग िकया
जाने वाला गे╠ं का वैŵािनक नाम बताइये?

1. Triticum aestivum/ ट├ ीिटकम एεּדवम

2. Triticale/ ट├ ीिटकेल

3. All species of triticum/ ट├ ीिटकम की सभी जाितयाँ

4. Secale/ सेकेल

Correct Answer :­

Triticum aestivum/ ट├ ीिटकम एεּדवम

The smallest flower is the world is?/िवק का सबसे छोटा पु� कौनसा ह╒

1. Lotus/कमल

2. Wolfia/वोε־या

3. Cactus/नागफनी
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4. None of these/उपरो♣ म┼ से कोई नही ं

Correct Answer :­

None of these/उपरो♣ म┼ से कोई नही ं

The ginger is a?/अदरक होता ह╒ एक:

1. Flower/पु�

2. Buds/किलया

3. Modified root/╜पांतδरत जड़

4. None of the above/ उपरो♣ म┼ से कोई

Correct Answer :­

None of the above/ उपरो♣ म┼ से कोई

C4 cycle is also known as:/ C4 च╡ को यह भी कहा जाता है:

1. EMP cycle / ईएमपी च╡

2. TCA cycle /टीसीए च╡

3. Hatch and Slack pathway / हेच एवं ेּרक पाκे

4. Pentose phosphate pathway / प┼टोस फॉेּסट पाκे

Correct Answer :­

Hatch and Slack pathway / हेच एवं ेּרक पाκे

Yellow­Green pigments is found in?/ पीला­हरा वण└क िकसमे पाया जाता ह╒?

1. Xenthophyta/ जेАोफाइटा

2. Chlorophyta/ □ोरोफाइटा

3. Pheyophyta/ िफओफाइटा

4. Rodophyta/ रोडोफाइटा

Correct Answer :­

Xenthophyta/ जेАोफाइटा

First synthetically prepared organic compound was:/सव└▀थम संेצषीत
काब└िनक रसायन है:

1. Glucose/ ĸूकोस
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2. Methane/ मीथेन

3. Benzene/ बेپजीन

4. Urea/ यूδरया

Correct Answer :­

Urea/ यूδरया

Which part of the plant effected due to SO2 pollution?/ पादपो का कौन सा भाग
SO2 ▀दूषक से ▀भािवत होता है?

1. Chloroplast/ □ोरोЮाּד

2. Mitochondria/ माइटोकोεЊ├ या

3. Xylem/ जाइलम

4. Lysosome/ लाइसोसोम

Correct Answer :­

Chloroplast/ □ोरोЮाּד

When Chernobyl tragedy take place?/ चेन╕िबल घटना िकस वष└ ╟यी थी?

1. 26th May, 1966/ 26 मई 1966

2. 26th April, 1986/ 26 अ▀ैल 1986

3. 6th August, 1947/ 6 अगּ1947 ה

4. 9th May, 1945/ 9 मई 1945

Correct Answer :­

26th April, 1986/ 26 अ▀ैल 1986

Which of the following is a group of algae?/ िनђ म┼ से कौन सा शैवालो का एक समूह
ह╒?

1. Cara, focus, polysiphoniya/ चारा, फोकस और पोिलसफोिनया

2. Wolvax, spirogyra clemydomonas/ वोגोċ, एּמाइरोगैरा और □ेमाइडीमोनस

3. Porphyyra, actocaprus, eulothericus/ पोδरफायरा, अ♂ोपेरस, यूलोि╩ċ

4. Sargosum, lemoneriya, grecyleria/ सरगोसम, लेमोनेδरया और ╣ेिसलेδरया

Correct Answer :­
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Wolvax, spirogyra clemydomonas/ वोגोċ, एּמाइरोगैरा और □ेमाइडीमोनस

A popular microbial insecticide is: / एक िचरपरिचत सूĈजीवीय कीटनाशी है:

1. Candida / क┼ दीदा

2. Yeast /यीּד

3. Bacillus thuringiensis / बेिसलस थुδरजेनेिसस

4. Staphylococcus aureus / ेּדफाׂोको☺स औरेयस

Correct Answer :­

Bacillus thuringiensis / बेिसलस थुδरजेनेिसस

Causes of acid rains are?/ अќीय वषा└ का कारण ℓा होता है?

1. Pollution of CO2 / CO2 का ▀दूषण

2. Pollution of SO2 and NO2/ SO2 और NO2 का ▀दूषण

3. Dust particles/ धूल के कण

4. Automobile pollution/ वाहन से िनकलने वाला ▀दूषण

Correct Answer :­

Pollution of SO2 and NO2/ SO2 और NO2 का ▀दूषण

In plant kingdom largest ovule is?/ पादप जगत म┼ सबसे बड़ा बीजांड िकसका होता है?

1. Cocus/कोकस

2. Nitum/िनटम

3. Cycus/सायकस

4. Pynus/पाइनस

Correct Answer :­

Cycus/सायकस

Ribulose biphosphate carboxylase enzyme catalyses the reaction
between?/ राइबुलोज़ बाइफाेּסट काब╕ċीलेज़ एंजाइम अिभि╡या को उΨेδरत करता है?

1. Oxaloacetic acid and acetyl CoA/ ऑċेलो एिसिटक एिसड और एसेटाइल को एंजाइम के मЄ

2. CO2 and ribulose 1, 5, biphosphate/ CO2 तथा राइबुलोज़ 1, 5 बाइ­फाेּסट के मЄ
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3. Ribulose biphosphate and phosphoglyceraldehyde/ राइबुलोज़ बाइ­फाेּסट और
फाּסोεĸसरेֵीहाइड के मЄ

4. PGA and dihydroxy acetone phosphate/ PGA तथा डाइहाइड├ ोċी एिसटोन फाेּסट के मЄ

Correct Answer :­

CO2 and ribulose 1, 5, biphosphate/ CO2 तथा राइबुलोज़ 1, 5 बाइ­फाेּסट के मЄ

Winged seed is found in?/ पंखदार बीज िनђ म┼ से िकसमे पाये जाते है?

1. Cycus/ साइकस

2. Pinus/ पाइनस

3. Pepaver species/ पेपेवर जाितयाँ

4. None of these/ उपरो♣ म┼ से कोई नही ं

Correct Answer :­

Pinus/ पाइनस

Genetic recombination occur through­/ अनुवांिशक पुनग└ठन होता है­

1. Meiosis and Fertilization/ अध└सूāी िवभाजन एवं िनषेचन ύारा

2. Mitosis and Fertilization/ समसू╨ी िवभाजन एवं िनषेचन ύारा

3. Mitosis and Meiosis/ समसूāी एवं अध└सूāी िवभाजन ύारा

4. All of the above/ उपरो♣ सभी

Correct Answer :­

Meiosis and Fertilization/ अध└सूāी िवभाजन एवं िनषेचन ύारा

Gases which known as greenhouse gases are?/ वह कौन सी गैस है, िजसे हδरत
▀भाव गैस कहते ह╒?

1. CO2, O2, NO2, NH3

2. Chlorofloro carbon, CO2, NH3, N2 / □ोरो�लोरो काब└न, CO2, NH3, N2

3. CH4, N2, CO2, NH3

4. Chlorofloro carbon, CO2, CH4, NO2 / □ोरो�लोरो काब└न, CO2, CH4, NO2

Correct Answer :­

Chlorofloro carbon, CO2, CH4, NO2 / □ोरो�लोरो काब└न, CO2, CH4, NO2
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In photosynthesis, light reaction occur in:/ ▀काश संेצषण म┼ ▀काशीय अिभि╡या
कहाँ सѓК होती ह╒

1. Thylakoid/ थेलेकोइड

2. Fret channel / ▄ेट ▓ंखला

3. Stroma / ּד├ ोमा

4. All of the above / उपरो♣ सभी

Correct Answer :­

Thylakoid/ थेलेकोइड

Silver fiber Revolution’ is related with / रजत तЋु ╡ांित िकेֹו संबεЖत है?

1. Flood control/ बाढ़ िनयं╨ण

2. Fish production / म�ली उΧादन

3. Cotton production / कपास उΧादन

4. Milk production/ दुĩ उΧादन

Correct Answer :­

Cotton production / कपास उΧादन

Identify chemical name of vitamin E?/ िवटािमन ई का रसायिनक नाम बताइये ?

1. Ascorbic acid / ऐַאोिब└क अќ

2. Retinol/ रेिटनोल

3. Thiamine/थाइिमन

4. Tochopherol/ टोकोफेरोल

Correct Answer :­

Tochopherol/ टोकोफेरोल

Riboflavin is a/an: / राइबोиािवन ह╒ एक:

1. Vitamin/ िवटािमन

2. Plant/ पादप

3. Antibiotic/ ▀ितजैिवक

4. Colouring substance/ रंगाΫक पदाथ└
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Correct Answer :­

Vitamin/ िवटािमन

Agar­Agar is produced by which of the following?/ अगार­अगार िनђ म┼ से िकेֹו
▀ाЧ होता है?

1. Gaigrtina/जाइगेिट└ना से

2. Gelidium/ जेलीिडयम से

3. Gresileriya/ ╣ेिसलेδरया से

4. None of these/ उपरो♣ म┼ से कोई नही ं

Correct Answer :­

Gelidium/ जेलीिडयम से

The type of forest mainly found in western coast of India is?/ भारत के
पिמमी घाट पर मुġतः कौनसे ▀╡ार के वन पाय जाते है?

1. Sub tropical deciduous/ उप उ�किटबंधीय पण└पाती

2. Tropical moist deciduous/ उ�किटबंधीय नम पण└पाती

3. Tropical deciduous / उ�किटबंधीय पण└पाती

4. Evergreen forest / सदाबहार वन

Correct Answer :­

Evergreen forest / सदाबहार वन

How many turns of calvin cycle produce one molecule of hexose?/ हेċोस
शक└ रा के एक अणु को बनाने के िलए िकतनी संġा म┼ केεגन च╡ लग┼गे

1. Two / दो

2. Six/ छह

3. Four/ चार

4. Eight / आठ

Correct Answer :­

Six/ छह

Which one of the following is called suicide bag of the cell?/िनђ म┼ से िकसे
कोिशका की आΫहέा की थैली कहते ह╒
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1. Lysosomes/लाइसोसोम

2. Ribosomes/राइबोसोम

3. Nucleosomes/Рूε□योसोम

4. Golgibody/गोֲीकाय

Correct Answer :­

Lysosomes/लाइसोसोम

Nucleus is absent in which plant cell?/ िकस पादप कोिशका म┼ क┼ ╪क अनुपε�थत होता
ह╒

1. Xylem parenchyma/ झायलम पेर┼काइमा म┼

2. Phloem parenchyma/ иोएम पेर┼काइमा म┼

3. Sieve tube cells/ छलनी निलका म┼

4. Companion cells/ सहचर कोिशका

Correct Answer :­

Sieve tube cells/ छलनी निलका म┼

Mannito is storage food of?/ मेनिनटो िनђ म┼ से िकसका संिचत भोजन ह╒?

1. Gresileriya/ ╣ीिसलेδरया

2. Poraphyra/ पोδरफाइरा

3. Fucus/ зूकस

4. None of the above/उपरो۵ त म┼ से कोई नही ं

Correct Answer :­

Fucus/ зूकस

Topic:­ Zoology

Interferons are useful in controlling?/ इंटेफ़═ रोन िकस रोग की वृεο रोकने के िलए
उपयोगी है:

1. TB/ टीबी

2. Cancer/ कक└  रोग

3. Malaria/ मलेδरया

4. Blood pressure/ र♣ दाब
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Correct Answer :­

Cancer/ कक└  रोग

The first census in India was done in:/ भारत म┼ ▀थम जनगणना की गई थी:

1. 1872

2. 1947

3. 1950

4. 1961

Correct Answer :­

1872

Modified crop Sonera­64 and Lema roja­64 A are the varieties of?/╜पांतδरत
फसल┼ सोनेरा 64 तथा लेमा रोजा 64­A िकसकी ▀जाितयाँ ह╒?

1. Wheat/ गे╠ं

2. Rice/ चावल

3. Pea/ मटर

4. Maize/ म☺ा

Correct Answer :­

Wheat/ गे╠ं

What happens in the secretion of glucagon?/ ĸूकगन के ּזावण से ℓा होता है?

1. It increases glucose level in the blood/ यह र♣ म┼ शक└ रा के ּהर को बड़ा देता है

2. It decreases glucose level in the blood/ यह र♣ म┼ शक└ रा के ּהर को कम कर देता है

3. It increases glycogen in the liver?/ यह यकृत म┼ ĸाइकोजन की मा╨ा को बढ़ा देता है

4. Losing calcium ions Ca²⁺ in plasma/ Юाּפा म┼ केεהयम आयन की मा╨ा िगर जाती है

Correct Answer :­

It increases glucose level in the blood/ यह र♣ म┼ शक└ रा के ּהर को बड़ा देता है

Maturation of genetically proinsulin into insulin takes place after?/ िकस
▀ि╡या के बाद आनुवांिशक ▀ोइंसुिलन, इंसुिलन म┼ पδरप▫ हो जाता है?

1. Joining of C­peptide/ C पेЦाइड के जुडने के बाद
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2. Removal of C­peptide/ C पेЦाइड के हटने के बाद

3. Removal of Disulphide bridge/ डाइस־ाइड सेतु के हटने के बाद

4. All of the above/ उपरो♣ म┼ से सभी

Correct Answer :­

Removal of C­peptide/ C पेЦाइड के हटने के बाद

Presently Asian lion found in India only:/ वत└मान म┼ एिशयाई शेर भारत के कौन से āे╨
म┼ पाया जाता है?

1. In the forest of Western ghat place/ पिמमी घाट के जंगलो म┼

2. In the forest of Gir/ िगर के जंगलो म┼

3. In the forest of Madhya Pradesh/ मЄ ▀देश के जंगलो म┼

4. In the jim Corbett National Park/ िजम काब═ट राױ├ ीय उϋान म┼

Correct Answer :­

In the forest of Gir/ िगर के जंगलो म┼

Who is generated thyrotropin releasing factor (TRF)?/ कौन थाइरोट├ ोपीन
δरलीिसंग कारक को उΧК करता है?

1. Cerebrum/ सेरे█म

2. Optic lobe/ ओिЦक लोब

3. Cerebellum / सेरेबेलम

4. Hypothalamus/ हाइपोथेलेमस

Correct Answer :­

Hypothalamus/ हाइपोथेलेमस

"Origin of species" is written by/ िनђ म┼ से िकसने “ऑδरिजन ऑफ ּמीसीस “ पुּהक
िलखी ह╒

1. Lamark / लेमाक└

2. Charles Darwin/ चाה└ डािव└न

3. De Vries/ दी वेδरस

4. A. Wisemann/ ए. वाइसमेन

Correct Answer :­
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Charles Darwin/ चाה└ डािव└न

In electron transport system, the last electron is accepted by?/ इले♂├ ान
अिभगमन (पδरवहन) तं╨ म┼ अंितम इले♂├ ान ╣हण िकया जाता है:

1. Molecular O2/ आεΕक ऑċीजन ύारा

2. Molecular H2/ आεΕक हाइड├ ोजन ύारा

3. Molecular CO2/ आεΕक CO2 ύारा

4. NADPH2/ NADPH2 ύारा

Correct Answer :­

Molecular O2/ आεΕक ऑċीजन ύारा

World population aproximately is (according to 2016 data):/ वत└मान म┼
(2016 के आकड़ो ंके अनुसार) िवק की जनसंġा लगभग है:

1. 6 million/ 6 िमिलयन

2. 7 billion/ 7 िबिलयन

3. 6 trillion/ 6 िट├ िलयन

4. 10 trillion/ 10 िट├ िलयन

Correct Answer :­

7 billion/ 7 िबिलयन

Charas, ganja and marijuana is a?/ चरस, गाँजा और मδरजुयाना ℓा है?

1. Stimulant/ उΟेजक

2. Depressant/ अवसादक

3. Halucinogenic/ ▌ांितजनक

4. None of the above/ उपरो♣ म┼ से कोई नही ं

Correct Answer :­

Halucinogenic/ ▌ांितजनक

Vaccination protects a person from the diseases by:/ टीकाकरण िकस ▀कार से
:ε♣ को रोग से बचाता हैי

1. Helping in digestion/ पाचन म┼ सहायता
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2. Increasing the number of RBC/ आरबीसी की संġा

3. Inducing the production of antibodies/ ▀ितजैिवक के उΧादन को बढ़ाना

4. Regulating temperature of the body/ शरीर का तापमान को िनयिमत करना

Correct Answer :­

Inducing the production of antibodies/ ▀ितजैिवक के उΧादन को बढ़ाना

The smallest functional and structural unit of kidney is called as:/ िकसे ▒☺(िकडनी) की
सबसे छोटी संरचनाΫक व काया└Ϋक इकाई _____ को कहते है|

1. Neuron/ Рूरोन

2. Nephron/ ने▄ोन

3. Granulocyte/ ╣Рुलोसाइट

4. Reticulocyte/ रेटीकुलोसाइट

Correct Answer :­

Nephron/ ने▄ोन

Humulin is a:/ िहћूलीन ह╒ एक:

1. Form of chitin/ काइिटन का एक ▀कार

2. Human insulin/ मानव इंसुिलन

3. Digestive ferment/ पाचक तΟव

4. Antibiotic/ ▀ितजैिवक

Correct Answer :­

Human insulin/ मानव इंसुिलन

Tapeworm is differ from roundwarm due to:/ चपटे कृिम, गोल कृिम से अलग ह╒:

1. Triploblastic body/ िट├Юोцाεּדक शरीर के कारण

2. Solid mesoderm/ ठोस मेसोडेम└ के कारण

3. Bilaterally symmetric/ िύपāीय समिमित के कारण

4. Alteration in life cycle/ जीवन च╡ म┼ अंतर के कारण

Correct Answer :­

Bilaterally symmetric/ िύपāीय समिमित के कारण



16)  

17)  

18)  

19)  

The disease called ‘Vishuchika’ in Ayurveda is?/ आयुव═द म┼ कौन से रोग को
‘िवषूिचका’ कहा गया है:

1. Cholera/ हैजा

2. Small pox/ ּפाल पोċ

3. Diphtheria/ डीچथीδरया

4. Chicken pox/ िचकन पोċ

Correct Answer :­

Cholera/ हैजा

Which one of the following is the high quality pearl producing species?/
िनђ म┼ उŗ कोिट के मोती िकससे बनते है?

1. Pinctada roding/ िपंकटाडा रोिडंग

2. Placuna blacenta/ Юेकुना цास┼टा

3. Pinctada margaritifera/ िपंकटाडा मार╣ेटीफेरा

4. Pinctada maxima/ िपंकटाडा मैεċमा

Correct Answer :­

Pinctada margaritifera/ िपंकटाडा मार╣ेटीफेरा

Clinically jaundice manifest when the blood bilirubin level rises above:/
र♣ म┼ िबिल╜िबन की मा╨ा होनी चािहए, उस मा╨ा से अिधक होने पर पीिलया हो जाता है:

1. 1 mg/100 ml

2. 1 mg/10 ml

3. 1.5 mg/100 ml

4. 2 mg/100 ml

Correct Answer :­

2 mg/100 ml

The study of population is called?/ जनसंġा के अЄयन को ℓा कहा जाता ह╒?

1. Autoecology/ ऑटोईकोलोजी

2. Sinecology/ सीिनकोलोजी

3. Ecology/ इकोलोजी
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4. Demography/ डेमो╣ाफी

Correct Answer :­

Demography/ डेमो╣ाफी

Smallest animal virus is?/ सबसे छोटा जЋुओ को रोग करने वाला िवषाणु कौन­सा है?

1. Pox virus/ पोċ िवषाणु

2. Coliphage/ कोिलफेज

3. Rhino virus/ राइनो ंिवषाणु

4. Porcine circovirus type­1/ पोरिकन िसरको िवषाणु टाइप­1

Correct Answer :­

Porcine circovirus type­1/ पोरिकन िसरको िवषाणु टाइप­1

Pellagra is caused by the deficiency of which vitamin?/ पेला╣ा रोग िकस
िवटािमन की Рूनता से होता है?

1. B1 (Thiamine)/ बी1 (थायमीन)

2. B12 (Cyanocobalamine)/ बी12(सायनोकोबालामीन)

3. Niacin (Nicotinic acid)/ नायिसन (िनकोिटिनक अќ)

4. D (Calciferol)/ डी (कैהीफेरोल)

Correct Answer :­

Niacin (Nicotinic acid)/ नायिसन (िनकोिटिनक अќ)

Drugs which suppress activity and relax our muscles are:/ कौन से ▀कार का
۴ग है जो मांसपेिशयो ंकी सि╡यता को कम करता है तथा उФे िशिथल करता है:

1. Stimulant/ उνीपक

2. Depressant/ अवसादी

3. Sedatives/ शामक औषधी

4. Tranquilizers/ ▀शाЋक

Correct Answer :­

Sedatives/ शामक औषधी
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Which of the following is method to control birth­rate?/ िनђ म┼ से जП­दर को
िनयεЎत करने की िविध है:

1. IUD

2. GIFT

3. HTF

4. IVE­ET

Correct Answer :­

IUD

Archeopteryx is connecting link between?/ आिक└ योچ टेδर۵ स िकसके मЄ संयोजी
कड़ी है?

1. Reptiles and birds/ सरीसृप तथा पāी

2. Amphibians and reptiles/ उभयचर तथा सरीसृप

3. Birds and mammals/ पāी तथा ּהनपायी

4. Reptiles and mammals/ सरीसृप तथा ּהनपायी

Correct Answer :­

Reptiles and birds/ सरीसृप तथा पāी

Study of behavior of animals is called?/ जЋुओ के יवहार के अЄयन को ℓा कहते
ह╒?

1. Ethology/ एथोलोजी

2. Parapsychology/ पेरसाइकोलोजी

3. Eugenics/ सुजनिनकी

4. Ichthyology/ इ♫ायोलोजी

Correct Answer :­

Ethology/ एथोलोजी

Stepes grain is a?/ � टेपीज ℓा है?

1. Bone/ अε�थ

2. Type of hair/ बाल का ▀कार

3. Embryo/ एक ▌ूण

4. Glume/ एक ĸूम
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Correct Answer :­

Bone/ अε�थ

Who is called the father of modern Endocrinology?/ िनђ म┼ से िकसे आधुिनक
अЋः ּזावी का जनक कहा जाता है?

1. Whitaker/ िवटेकर

2. Enthoven / एंथोवेन

3. Poscher/ पोמर

4. Edward Brown sequord/ एकवड└ █ाउन िस۵ वड└

Correct Answer :­

Edward Brown sequord/ एकवड└ █ाउन िस۵ वड└

The process by which the rate of aerobic respiration is inhibited by
atmospheric O2 is called?/ वह ि╡या िजसम┼ वायुमΏलीय O2 के ύारा ऑċी קसन की दर
संदिमत हो जाती है, ℓा कहलाती है?

1. Pasture effect/ पाמर ▀भाव

2. Calvin effect/ केεגन ▀भाव

3. Darwin effect/ डािव└न ▀भाव

4. None of the above/ उपरो♣ म┼ से कोई नही ं

Correct Answer :­

Pasture effect/ पाמर ▀भाव

The vestiges of hind limbs are present in / �कस ज�तु मे प�पाद का अवशेष पाया जाता है ?

1. Cobra/ कोबरा

2. Sea snake/ समु╪ी साँप

3. King kobra /िकंग कोबरा

4. Python/ अजगर

Correct Answer :­

Python/ अजगर
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Who controls the production of growth hormone at the cellular level affect
the growth?/ िनђ मे से कौन कोिशका के ּהर पर वृεο हाम╕न के उΧादन को िनयंि╨त करता है?

1. r­RNA/ आर­आरएनए

2. t­RNA/ टी­आरएनए

3. m­RNA/ एम­एआरएन

4. None of the above / उपरो♣ म┼ से कोई नही ं

Correct Answer :­

m­RNA/ एम­एआरएन

Topic:­ English

Out of the four sentences given below, choose the one which is
grammatically correct.

1. Many chemicals have a damaging affect on the environment.

2. Many chemicals have an damaging affect on the environment.

3. Many chemicals has a damaging effect on the environment.

4. Many chemicals have a damaging effect on the environment.

Correct Answer :­

Many chemicals have a damaging effect on the environment.

Out of the given options, choose the most appropriate one to fill in the
blank.

Gulliver's Travels ______ written by Jonathan Swift.

1. have

2. are

3. were

4. was

Correct Answer :­

was

Out of the given four words only one is not spelt correctly. Find the word
that is not correctly spelt.

1. foriegn
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2. guarantee

3. grateful

4. gauge

Correct Answer :­

foriegn

Out of the given options, choose the one which is the correct Active voice
of the sentence given below.

The room was cleaned yesterday.

1. Somebody cleaned the room yesterday

2. The room has been cleaned yesterday

3. Somebody have cleaned the room yesterday

4. Somebody was cleaning the room yesterday

Correct Answer :­

Somebody cleaned the room yesterday

DIRECTIONS: An affirmative sentence is given and below it four Negative
sentences are given. Out of the given four options, choose the one which is
the grammatically correct transformation of it.

The boy killed the spider with his shoe.

1. The boy do not kill the spider with his shoe.

2. The boy does not killed the spider with his shoe.

3. The boy has not kill the spider with his shoe.

4. The boy did not kill the spider with his shoe.

Correct Answer :­

The boy did not kill the spider with his shoe.

In the given sentence there might be an error. Find out which part of the
sentence has an error: lf there is no error, mark your answer as (d) i.e. ‘No
error’.

If you hadn't lied to me before, (a)/ I would have (b)/ believe you.(c)/ No
error (d)

1. (a)



7)  

8)  

9)  

2. (b)

3. (c)

4. (d)

Correct Answer :­

(c)

Out of the given four options, tick the option that gives a correct explanation of the
sentence given below.

These documents are largely irrelevant to the present investigation.

1. These documents are not related to the present investigation and therefore not
important

2. These documents are an important reference to the present investigation and
therefore very important

3. These documents are an important part of the present investigation and therefore
of utmost importance

4. These documents are connected with the present investigation and therefore
of supreme importance

Correct Answer :­

These documents are not related to the present investigation and therefore not
important

Out of the given options, choose the one which is the correct Direct
Speech of the sentence given below.

The policeman enquired where we were going.

1. The policeman said to us, “Where are you going?”

2. The policeman said to us, “Where were you going?”

3. The policeman said to us, “Where have you been going?”

4. The policeman said to us, “Where had you been going?”

Correct Answer :­

The policeman said to us, “Where are you going?”

Out of the four sentences given below, choose the one which is
grammatically correct.

1. It has been years for I have rode a bike.
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2. It has been years from I have ridden a bike.

3. It has been years since I have rode bike.

4. It has been years since I have ridden a bike.

Correct Answer :­

It has been years since I have ridden a bike.

Out of the given four words only one is spelt correctly. Find the word that
is correctly spelt.

1. definate

2. exceed

3. expereince

4. existance

Correct Answer :­

exceed

What is the meaning of the prefix ‘anti’ in the word ‘antidote’ ?

1. All or every

2. One or singular

3. beyond or more than

4. against, opposing

Correct Answer :­

against, opposing

Out of the given options, choose the most appropriate one to fill in the
blank.

I _________ solve the puzzle. It was very difficult.

1. aren’t able to

2. wasn't able to

3. weren’t able to

4. haven’t able to

Correct Answer :­

wasn't able to
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DIRECTIONS: A sentence with an underlined Phrasal verb is given below.
Out of the four options, choose the one which can be substituted for the
given Phrasal Verb.

I'm not going to put up with their smoking any longer.

1. tolerate

2. suggest

3. exhibit

4. indicate

Correct Answer :­

tolerate

Out of the given options, choose the most appropriate one to fill in the
blank.

I found _______photos while I was cleaning out my cupboards.

1. little

2. that

3. this

4. these

Correct Answer :­

these

DIRECTIONS: A sentence with an underlined word is given below. Find
the word which is most similar in meaning to the underlined word.

The ceremony will commence at noon.

1. begin

2. end

3. halt

4. break

Correct Answer :­

begin
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Out of the given options, choose the one which is the correct Indirect Speech
of the sentence given below.

He said to them, “Will you listen to such a careless man?”

1. He asks them whether they will listen to such a careless man.

2. He asks them whether they would listen to such a careless man.

3. He asks them whether they could listen to such a careless man.

4. He asked them whether they would listen to such a careless man.

Correct Answer :­

He asked them whether they would listen to such a careless man.

Out of the given options, choose the one which is the correct Passive
voice of the sentence given below.

Why did your brother write such a letter?

1. Why was such a letter written by your brother?

2. Why had such a letter been wrote by your brother?

3. Why has such a letter been written by your brother?

4. Why have such a letter been written by your brother?

Correct Answer :­

Why was such a letter written by your brother?

Out of the given options, choose the most appropriate one to fill in the
blank.

Do you have _____car?

1. a

2. an

3. the

4. No article required

Correct Answer :­

a

Out of the given options, choose the most appropriate one to fill in the
blank.
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The number of people claiming unemployment benefit_______ sharply this
month.

1. has risen

2. have risen

3. have rose

4. has rose

Correct Answer :­

has risen

Out of the four sentences given below, choose the one which is
grammatically correct.

1. No sooner had she finish one project than she started working on the next.

2. No sooner had she finished one project when she started working on the next.

3. No sooner had she finished one project then she started working on the next.

4. No sooner had she finished one project than she started working on the next.

Correct Answer :­

No sooner had she finished one project than she started working on the next.

Out of the given options, choose the most appropriate one to fill in the
blank.

Jawaharlal Nehru was ______children.

1. fond for

2. fond in

3. fond by

4. fond of

Correct Answer :­

fond of

DIRECTIONS: A sentence is given followed by four options. Read the
sentence and tick the option that states its kind.

What kind of information was provided by him?

1. Affirmative sentence

2. Interrogative sentence
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3. Exclamatory sentence

4. None of the above

Correct Answer :­

Interrogative sentence

Out of the given options, choose the most appropriate one to fill in the
blank.

He ________ climb the mountain. It was too high.

1. cannot have

2. ought to have

3. couldn't

4. could not have

Correct Answer :­

couldn't

DIRECTIONS: A sentence with an underlined word is given below. Find
the word which is opposite to the highlighted word from the given options.

A number of houses were demolished so that the supermarket could be built.

1. destroyed

2. constructed

3. burnt

4. removed

Correct Answer :­

constructed

Out of the given options, choose the most appropriate one to fill in the blank.

The Eiffel Tower _________ of all Paris's landmarks.

1. is the most famous

2. is the more famous

3. is a more famous

4. is most famous

Correct Answer :­
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is the most famous

Topic:­ Reading Comprehension

DIRECTIONS: Read the following passage carefully and answer the
questions given below.

The Ministry of Civil Aviation launched a new scheme called UDAN as the
Ministry’s regional connectivity scheme. UDAN or Ude Desh Ka Aam Naagrik
is a scheme meant for the common man who dreams of flying at an
affordable price.

UDAN is an innovative scheme to develop the regional aviation market. It
has a unique market­based model to develop regional connectivity. The
mechanism in this is that the airlines will bid for seat subsidies.

This scheme will create affordable yet economically viable and profitable
flights on regional routes so that flying becomes affordable to the common
man even in small towns.

Why has the UDAN been called an innovative scheme?

1. Because it aims at featuring new, advanced and original methods

2. Because it has been launched by the Indian government

3. Because it is only for Indians residing abroad

4. None of the above

Correct Answer :­

Because it aims at featuring new, advanced and original methods

DIRECTIONS: Read the following passage carefully and answer the
questions given below.

The Ministry of Civil Aviation launched a new scheme called UDAN as the
Ministry’s regional connectivity scheme. UDAN or Ude Desh Ka Aam Naagrik
is a scheme meant for the common man who dreams of flying at an
affordable price.

UDAN is an innovative scheme to develop the regional aviation market. It
has a unique market­based model to develop regional connectivity. The
mechanism in this is that the airlines will bid for seat subsidies.

This scheme will create affordable yet economically viable and profitable
flights on regional routes so that flying becomes affordable to the common
man even in small towns.

As per the passage, what is the ultimate aim of UDAN scheme?

1. To provide international flights
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2. To connect India to all International airports

3. To fulfil the dreams of common man of flying at an affordable price

4. None of the above

Correct Answer :­

To fulfil the dreams of common man of flying at an affordable price

DIRECTIONS: Read the following passage carefully and answer the
questions given below.

The Ministry of Civil Aviation launched a new scheme called UDAN as the
Ministry’s regional connectivity scheme. UDAN or Ude Desh Ka Aam Naagrik
is a scheme meant for the common man who dreams of flying at an
affordable price.

UDAN is an innovative scheme to develop the regional aviation market. It
has a unique market­based model to develop regional connectivity. The
mechanism in this is that the airlines will bid for seat subsidies.

This scheme will create affordable yet economically viable and profitable
flights on regional routes so that flying becomes affordable to the common
man even in small towns.

By this scheme who will be benefitted the most?

1. Common man

2. Affluent class

3. Business class

4. None of the above

Correct Answer :­

Common man

DIRECTIONS: Read the following passage carefully and answer the
questions given below.

The Ministry of Civil Aviation launched a new scheme called UDAN as the
Ministry’s regional connectivity scheme. UDAN or Ude Desh Ka Aam Naagrik
is a scheme meant for the common man who dreams of flying at an
affordable price.

UDAN is an innovative scheme to develop the regional aviation market. It
has a unique market­based model to develop regional connectivity. The
mechanism in this is that the airlines will bid for seat subsidies.

This scheme will create affordable yet economically viable and profitable
flights on regional routes so that flying becomes affordable to the common
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man even in small towns.

Which word in the passage means ‘inexpensive or reasonably priced’?

1. affordable

2. launched

3. regional

4. mechanism

Correct Answer :­

affordable

DIRECTIONS: Read the following passage carefully and answer the
questions given below.

The Ministry of Civil Aviation launched a new scheme called UDAN as the
Ministry’s regional connectivity scheme. UDAN or Ude Desh Ka Aam Naagrik
is a scheme meant for the common man who dreams of flying at an
affordable price.

UDAN is an innovative scheme to develop the regional aviation market. It
has a unique market­based model to develop regional connectivity. The
mechanism in this is that the airlines will bid for seat subsidies.

This scheme will create affordable yet economically viable and profitable
flights on regional routes so that flying becomes affordable to the common
man even in small towns.

What is the UDAN model expected to develop?

1. Regional connectivity

2. International connectivity

3. Both of the above

4. None of the above

Correct Answer :­

Regional connectivity


